1. Circle the correct option.

a) The article mentions three [ four reasons.
b) Lake Urmia lost all / most of its water.
c) There are 74 dams [ deep wells around Lake Urmia.

d) The lake dried up mainly because of climate change / bad management.

2. Circle the correct sentences according to the text.

a) The government shouldn't have built dams. d) The government should have confinued the

causeway project.
b) People should have dug more deep wells.
e) The government shouldn't have tried to expand

c) Rich people shouldn’t have used deep wells. agriculture so much.



